[ Efficiency vs vertpos |

o
o
[¢0]
L RLARN RN LA N RN RN LN RSN LN LA

S S—

0.95 ; :
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_mKFIt_T1original
——— DOQM_mKFit_TT_pL
TCiend —— DOM mKFit T pLW
[Efficiend —— BOM mkFITTbow
NI O

$0.09
(2]
>0.08
>

2
§0.07F-
o

£ 0.06F
(]

IIIIIIIIIIIIIIIIIIIIIIIII TTTT IIIIIIIIIIIIII
gy
.

0.05 :
0.04F+---wieeeegil oo R
0 )(0kc|SERPRRETRPRN EARRES R
0.02F - Pt e dee e R % :
0.01 R RREs SIERREREL 7 || B gooeee
I, I A D I
s :
o L i
i S R
of ; :
0.95! 10 20 30

=30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
2y
c0.06
@
o
£0.05
5}
0.04
0.03
0.02

0.0

n
o +W ¥ 5 5
= 5 5 5
. 5 g o Pakd
1 : T “ : g
+* 8 8 [

0515510 -5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


